4843.5

HHEE | MD-2522 (H) +LKD-2222 (H)

95 5 2407.5 B # 2 |[EE(Wm) it %
I T 102 93 E B K 04 | U5 03502 EERRSGA7 A0 5-GRAE9» 2R COLLC
) 12| J503320 FROS%IA=0-5HAS- 48R SOLCC
e B-A3S 16 | JS G3312 #EEMER»- *BR CGCC
la vp A-A3D 12| U5 63322 REARSS7A: -7 h—8R42h- §#K COLCC
«|z 5|5 HE TRE (B %) | 1.201.0) | JS G330 2RAR5%743-04-F5820- 1R COLCC
>3 NE R S| E 7 om Cm) | 1.0C08) | JS 63320 BERRSHTA3-0A-E2#- 2 CoLCC
4 lo ® =8 16 ELDK Lt 1.2 | UIS 63322 #5#R55%703 2 4-E5440- 48R COLCC
2 e ] LRES 0.8 [ U5 G3322 HsR56%73-94-E8820- 48K CELOC (9-+oh3-)
ﬁ E EL— 1.2 PIVIZOLBEEHEHT
e & TU— 0.8 | J5 63320 #RARO5A7A -5 —FHA%H 1K COLCC
. P 05 | J G330 #EMASErA 04 -B8A2H, 5B COLCC (9-0795-)
I | I I I S BB L& 05 | JS 03502 #E6R55A7 M -04- 62, 4K COLCC
‘ omOD 110 ‘ m 08 | JS 03522 A5HRO5H7 4 -04 62> 1R COLCC
‘—‘* - i i 7 (1 0.6(0.8) | JIS 63322 2RRRS%7 4374 -F4A20- ¥R CGLCC
. ZREUD 24695 . . [#-7-8] 2nmsia 2071 Brvov. BE | 05 | 50330 BERRSSIAA 04 a4A8n, 28k (0L
[ ] 25635 [3-7 >8] 215 [v&#) 2rvsaf 20575 W % AB 10| JS 63322 $5aR55%7 43~ A ERA%H- 8K COLCC
477835 213 W e 0.5 | IS 63322 $EARSS7A 9554430, 6k COLCC
E®LIDE ) MBI ®E = 5T os [hum o ot
] . _ . B ] j TR0 L-BRALHo ¢
HORTER HIATERT HORTER HIATERT e e 16t FUn=FU-F (D | 23 | JIS 3302 6RBH> 28R SCIC (#ERH L)
24045 =
BEL BRI 5 # % 4 A (MXEY)
2563.5 2 213 \ \ B& Lt (D 629 x 1938 (2179)
70 [, 6705 31 610 31 60 31320 |, 6105 3 60 3] 605 | 70 T B E Lt (HD 620 x 1938 (2179)
) | I 22/ I 37 NN Iy B30 LA (H-A 670 x 1870 (2110)
. s i s @920 F (H-P 3195 x 1870 (2110
- L] sls 88 EE LA 670 x 1160
3 wla 8|18 % NE WE £ (HD 582 X 1909 (2149)
© S| Y
c|5 e s g
,— IS ra 2
kS \ .
ol % BNV %(
= iR g
& / EREH
e o
. . o VAR §
3 woom || mwsd i
© 1285 EREBRS 20375 47
: ' 2213 '
R 2 . -
70 || 5825 1197 580.25 2073 70 (W& ] IBEHE (s=Ve)
' 31 31 70 70 % () AHAEIE. H9 A F2RT.
T g\ (S _ 1/50) b9 A-A3.0 1.2t
BEL 7
S = 3 54 (— g ]
. .
=3 LR/ NELDKER & 5 |
* 8 3|28 8|8
© _ ~ S ﬁ
o|8 = <
- : el8 & N R AB &
o oN | N ~—
M| — ~ > ~ in) 1=
SIS = s N
Q@ g o
B b Fo) R
3 81 R 81 70 HEx "
o
5 81 81 v
\ Tt %
= i - i E‘—O: ERABRG 2071 70
b 2] ~
L) 1 93835 % ‘ 2073 70 [#—F 8] BHE (5= Vs) ( 1 /2)
2 % () ATEE. Ho < T2mT, —
Rk (S=1s0) e M ARKYE T)VEIVE

syEdliEt e

< LMD—=2522(H)+LKD—2222(H)_A_0.DXF >




